
Step1. In file sql/sql_udf.cc  and function udf_read_functions_table . A new_thd is allocated 
and its m_attachable_trx is nullptr.

 

Step2. udf_read_functions_table  invokes open_trans_system_tables_for_read . In file 
sql/sql_base.cc  and function open_trans_system_tables_for_read :

thd->begin_attachable_ro_transaction() allocates thd->m_attachable_trx.

thd->m_attachable_trx is not nullptr while thd->m_attachable_trx->m_prev_attachable_trx is 
nullptr.

Step3. open_tables()  failed for whatever reason and thd->end_attachable_transaction() is 
invoked.

 

Step4. In file sql/sql_class.cc  and function end_attachable_transaction() :

As shown in Step2, m_attachable_trx->m_prev_attachable_trx is nullptr.

m_attachable_trx is reset to nullptr.

 

Step5. In file sql/sql_udf.cc  and function udf_read_functions_table :

Failed to open_trans_system_tables_for_read() and goto end.



 

Step6. In fie sql/sql_udf.cc  and function udf_read_functions_table :

close_trans_system_tables() invokes thd->end_attachable_transaction() and new_thd ends 
attachable transaction for the second time.

 

Step7. In file sql/sql_class.cc  and function end_attachable_transaction :


